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Help wanted! Requesting all Applications

A window is being built and the bottom is a rectangle and the top isa sem;cwcie if thereis 12 m of
framing materials what must the{dimensions.. 8f the window be to[et in the most tght [Circle formulas you
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You have 50 cm of Wire, and yoUu-have to use part of this wire to make a rectangle that s twice as long as it
is wide, and the rest of the wire (if there is any left) to make a square. What should the dimensions of the
shapes be if you want the{‘t—o't'a‘i aréd t6B5& as small as possmie?}Wha‘c if you want the total area to be as

large as possible? T fain 2
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You run a canoe-rental business on a small river in Ohio. You currently charge 512 per.canoe and
average 36 rentals a day. An industry journal says that, for everylfifty- cent increase in rental prl@ the
average business can expect to lose twb rentals a day. Use this information to attempt {0 maximize your

income. What should you charge? )
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4. Calculators are sold to students for 20 dollars each. Three hundred students are willing to buy them at that

price, For every 5 dollar increase in. price, there are 30 fewer students willing to buy the calculator. What
selling prsce will produce the maximum revenue and what will the maximum revenue be?
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Problems not about the maximum/minimum (vertex). Write an equation and solve accordingly ?z‘) .
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5. The sum of the squares of two consecutive integers is 365. What are the integers?
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6. Arectangular buildinglotis 8 rr}iq‘pgg{mthan 11‘ is wuie and has an area of 2900m2. Find the dimensions of =
the lot. wa
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7. Arectangular garden measures 15 m by 24 m. A larger garden is to be made by increasing each side length

by the same amount. The resulting area is to be 1.5 times the original area. Find the d:mensmns of the
WW llllllllllllllll
new garden to the ﬁ” arest tenth of 4" PAeter s

PE———E

T St
s
R

(\5+>f~§(m }Q S
X 3+ 360 T 51O
'S s/*b%f: 50 =D

Mot Cachrachie

o W@Lﬁﬂ
X\ - T 20

et e

_ww__‘__/// ) m»»—”} g e
il‘}( e H ) %?’% ami }’ = f”L%

g L4 D“i“m@ﬁ%@fw& My ‘éjf‘ \@“@" 19 5?/%/% bgf w@)%
5\40 ‘ﬁ) %) "‘“{ @ﬁf

M . F
(VA Y VN 1 {i“}‘fﬁ £ ol b %f’fwg- (RLire S8



